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WOMEN’S STUDIES
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. Gender is constructed :
(A) Socially (B) Sexually
(C) Biologically (D) Genetically
2. The convention on Elimination of All Forms of Discrimination Against Women

(CEDAW) came into force in :

(A) 1979 (B) 1981 (©) 1975 (D) 1993
3.  Who led the suffrage movement for women in India ?
(A) Ushaben Mehta (B) Sarojini Naidu
(C) Sarojini Vardappan (D) Sucheta Kriplani
4.  Who was the first woman judge of the Supreme Court of India ?
(A) Justice Sujata Manohar (B)  Justice Fatima Beevi
(C) Justice Leela Seth (D) Justice Kiran Anand
5.  The feminist writer who got the recent Nobel Prize for Literature :
(A) Margaret Drabble (B) Doris Lessing
(C) Margaret Atwood (D) Shashi Deshpande
6.  Who wrote “The Position of Women in Hindu Civilization” ?
(A) Radha Kumar (B) Susheela Kaushik
(C) AS. Altekar (D) Devaki Jain
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7.  Who is the Union Minister for Women and Child Development ?
(A) Margaret Alva (B) Renuka Chowdhary

(C) Meira Kumar (D) Panabaaka Lakshmi

8.  The film FIRE was produced by :
(A) Shabana Azmi (B) Deepa Mehta

(C) Aparna Sen (D) Mira Nair

9.  Who is the first woman DGP of India ?
(A) Kiran Bedi (B) Parul Khush

(C) Kanchan Chowdhary (D) Gurpreet Deo

10. Arundhati Roy is a :
(A) Liberal Feminist (B)  Socialist Feminist

(C) Eco-Feminist (D) Radical Feminist

11. GEM stands for :
(A) Gender Emerging Measures
(B) Gender Emergency Measures
(C) Gender Empowerment Measures

(D) Gender Equity Measures

12. Woman who lost her life in Satyagraha Movement led by Mahatma Gandhi in South

Africa ?
(A) Muthu Lakshmi Reddy (B) Thillayadi Valliammai
(C) Aruna Asaf Ali (D) Sarla Devi
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Assertion (A) : The study of Gender and Citizenship has developed through
post-modernist thinking.

Reason (R) : Citizenship Rights are widely challenged in the historical and
contemporary society.

(A) Both (A) and (R) are false

(B) (A) is correct, (R) is false

(C) Both (A) and (R) are correct, (R) is the correct explanation for (A)
(D) Both (A) and (R) are correct

Assertion (A) : Gender is not a consequence of sex.
Reason (R) : Gender is Biologically constructed.

(A) Both (A) and (R) are false

(B) (A) is correct, (R) is false
(C) Both (A) and (R) are true
(D) (R) is correct (A) is false

UGC gave the first Guidelines on Women's Studies in the year :
(A) 1986 (B) 1993 (C) 1995 (D) 1997

The percentage of women in the present Parliament is :

(A) 8.2 (B) 9.2 (C) 10.4 (D) 11.6

Match the items from Lists I and II.
List-I List-I1

(a) Mehmuda Mufti (i) President of AIADMK
(b) Mayawati (i) President of PDP
(c) Jayalalitha (iii) President of TMC
(d) Mamta Banerjee (iv) President of BSP
Code
(@ (b)) () (@
(A) @) G@v) @ ()
(B) @ Gv) @ (i)
(© (@v) @) @ ()
(D) (v) @) @) ()



13.

14.

15.

16.

17.

aifirperT (A) : ol iR ATRear &1 s1eoeM SR-snyfeharet foemem & SR fawfad

g

HRUT (R) : TrTRes SAfereprRl w1 Ufetfaes 3iR HHehTel T9Ts § SAT9e ®9 § A <

Sicikd
(A) (A) 3R (R) TFI e B
(B) (A) T T, g (R) T g |
(C) (A) 3R (R) T T&l T 3R (R), (A) 1 TE T T |
(D) (A) 3R (R) I T&I T

~—"

)

SIfFITT (A) : T S o1 aftomm =1 B
FRUT (R) : feim Sifaew w9 9§ faftia gen €1
(A) (A) R (R) ST TTerd & |

(B) (A) T& ¥ IR (R) e T

Q) (A) IR (R) THI T

(D) (R) §& T g (A) Ted T

I SEL (UGC) A Tord oY Teedt oIk Higel 3A&9de i ANifeud &1 ?

(A) 1986 (B) 1993 (C) 1995 (D)
A 9 § fordi i gfasa ©
(A) 8.2 (B) 9.2 (C) 10.4 (D)

YA H S A o I H S 7el o WY gAfad s
Teit-1 Ge-11

(a) HEHE Kl (i) AIADMK i 31e98
(b)  HETE (i) PDP @l 3{ea&
(c) SEdfad (iii)y TMC =i 1A
(d) HHAT ST (iv) BSP ! 31eae
FIE :

(@ @) ((© (@
(A) @) (@(v) @) (i)
B) @) (@Gv) @ (i)
(© (v) (@) @ (i)
(D) Gv) (@) (@) (i)

1997
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18.

19.

20.

21.

Give the sequential order of the following :

(i) Adoption of CEDAW by the U.N.

(i) International Convention on Population and Development
(iii) U.N. Convention on Environment and Development

(iv) U.N. World Conference on Human Rights

Code :

(A) (v) @) @) @

(B) (@) @v) @ ()

(€ @ @) (@) @

(D) @ @) (v) ()

Match the item from List I and II.

List-1 List-1I
(a) Dr. Girija Vyas (i) Planning Commission of India
(b) Dr. Shanta Sinha (i) Ministry of Women and Child Development
(c) Dr. Syeda Hameed (iii) National Commission for Women
(d) Renuka Choudhary (iv) Commission for Protection of Child Rights
Code
(@ ((b) ( (@
A @ @ @) 6
® () (v O (i)
© (v @) 0 G
D) G @) O G

Name the first woman who contested the election to the office of the President of India?

(A) Dr. Najma Heptullah (B) Mrs. Vijaya Lakshmi Pandit

(C) Mrs. Pratibha Patil (D) Capt. Lakshmi Sehgal

In which year 73" and 74th Constitutional Amendments were enacted ?

(A) 1992 (B) 1993 (C) 1995 (D) 1997
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iv) HIK Y AHATHER fava Fed
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P.T.O.

1997

(D)

gt fosr aigsl dfed
(D) . dA&Ht A
(C) 1995

(B)

1993

(B)

IRA % TPURd I % o A erearedt g afect i M 31 €2
gt gt difea

(A) Elo TSHI TUJeTIE

TEaal SR AeTal oo W 1 Hr fohe o § o2

(A) 1992

©
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22. Match the Columns I and II :

Column-I Column-II
(a) Towards Equality (i) 1988
(b) Shramshakti (i) 1988-2000
() National Perspective Plan for Women (iii) 2001
(d) National Health Policy (iv) 1974

(@ ® (o @

(A) @) () (@v) @)

(B) G) (v) (@) (D)
© Gv) @ @) ()
(D) @) @@  (v) (i)

23. The UN Agency which works for women’s issues only is :

(A) UNDP (B) UNIFEM (C) UNFPA (D) UNICEF

24. Who was the first woman of Indian origin to go to space ?
(A) Junko Tabei (B) Kalpana Chawla

(C) Sunita Williams (D) Bajendary Pal

25. Assertion (A) : Feminist consciousness and knowledge have many challenges in
society.

Reason (R) : In the male dominated society women have more offen considered as
objects of knowledge then the producers of it.

A) Both (A) and (R) are correct, (R) is the correct explanation for (A)
B) (A) and (R) are false
C) Both (A) and (R) are correct

D) (A) is correct (R) is false
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22.

23.

24.

25.

AT H A B G-I H el % e gafad swifse)

-1 -1
(@) TIASH ToHferd @) 1988
(b)  FHSIEHIT (i) 1988-2000
(c) TEE Hfge qRYe ArSH (iii) 2001
(d) UEE @ Hifd (iv) 1974
HIg:

(@ B (© @
(A) @) () (@) (D)
B) @) (@Gv) @ (i)
© @v) 1) @) (i)
(D) @) @)  (@v) (i)

otk afeeteii & & W wE T drel GIF TP o ¢ :
(A) UNDP (B) UNIFEM (C) UNFPA (D) UNICEF

STaRel w1 ST aTell YRATE o ot Jom Afean shid off ?
(A) eI qmel (B)  heql eIl
(C) gitan fafeerd (D) SSI<d a1

SIHYT (A) :  THAETET A 3R I &% A A § s Al ¢ |

FHRT (R) : &9 JUH A H FoR @l SRR 9 o 9% e S § a9 91 6
SACH |

(A) (A) 3R (R) T T2 7 3R (R), (A) 1 W& TSR |
(B) (A) 3R (R) THI Terd 1

Q) (A) IR (R) T T T

(D) (A) 5 § W (R) e
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26.

27.

28.

29.

30.

Assertion (A) : ‘Glass Ceiling’ is an invisible barrier that women experience in their

upper carrier.
Reason (R) : Women are incapable of managing organizational issues.
(A) Both (A) and (R) are correct
(B) (A) is correct, (R) is false
(C) Both (A) and (R) are false

(D) (R) is correct (A) is false

Who wrote “The History of Doing’ ?
(A) Matson Everett Jana (B) Kamla Bhasin

(C) Neera Desai (D) Radha Kumar

Which one of the following cases is related to an incident of custodial rape ?

(A) Roop Kanwar (B) Mathura

(C) Geeta Hariharan (D) Bhanwari Devi

Indian Association of Women’s Studies was formed in the year :

(A) 1975 (B) 1979 (C) 1981 (D) 1986

Assertion (A) : Women have to balance reproductive and productive roles.

Reason (R) : Women are descriminated in productive and reproductive roles.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is false (R) is true

(D) (R) is false (A) is true
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26.

27.

28.

29.

30.

afirpeT (A): ‘o Hifdn’ U 1Y T § S el ot S=a iR # erva
L B |

NUT (R) : ol e R ol Heer i | Ferd e €
(A) (A) 3R (R) I T B

(B) (A) & T W (R) T T |

Q) (A) IR (R) T e B

(D) (R) 9 § T (A) Tod

‘3 fedt attw ggn'! foRen Tt 2
(A) TZHT T SHI (B) HHeT HHH
(C) R <EE (D) T FAR

frfafaa § 9 e feted § Joerr &t =2 9 eiad § 2
(A) B9 HR (B) HYU

(C)  Titan eftew (D) fad

AR dfeen seas | (Sfeam THfawen o1ie 9019 wels) ford au o o1 ?

(A) 1975 (B) 1979 (C) 1981 (D) 1986

3ifyameT (A) : Tl 1 IS 3R Scree JfHemsti o dig Hger T g B |
HRUT (R) : Sces 3R Yoresh Jfentelt | fori & e Seum o s 7

(A) (A) 3R (R) T TTed |
(B) (A) 3R (R) IHI T T
(C) (A) TTeId § W] (R) Tl T
(D) (R) TTeTd & W] (A) Tl |
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31.

32.

33.

34.

35.

36.

Assertion (A) : Feminism dismantles all forms of domination in the society.
Reason (R) : Society is dominated by women.

A) Both (A) and (R) are true

(
(B) Both (A) and (R) are false
(C) (A) is true (R) is false

(

D) (A) is false (R) is true

Betty Friedan is a :
(A) Radical Feminist (B)  Socialist Feminist

(C) Marxist Feminist (D) Liberal Feminist

Shram Shakti report deals with :

A) Women in the organised sector

(
(B
(
(

~—"

Women in the unorganised sector
C) Unemployed women

D) Women in the administrative services

Which state has the highest female work participation rate in India according to 2001
census ?

(A) Delhi (B) Kerala
(C) Mizoram (D) Maharashtra

The Indecent Representation of Women (Prohibition) Act was enacted in :

(A) 1987 (B) 1986 (C) 1992 (D) 2003

The discipline of Women'’s Studies came into being due to :

A) Sexual oppression of women

(

(B) Women’s role in freedom movement
(C) Women’s search for equality and justice
(

D) Women’s entry into higher education
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31. 3UFHYT (A): THER U § T YhR & G &l fa@fved a2 a1 T
®NUT (R) : et R o=l 1 gy T 7

A) (A) R (R) I T T

B) (A) 3R (R) I e T

C) (A) T T 3R (R) TTerd B

(
(
(
(D) (A) 7T § 3R (R) WLl T

32, WA HIETT:
(A) IS St (B) HHISIEET SHamet
(C) W] Sitaret (D) &R St

33. o9 s fre fore § wraifvem §72
(A) wfed & ¥ fo
(B) erHwfaq &= H fera
(C) SRS T
(D) wRmEfTeR Haedi | for

34. SEIUAT 2001 % 3TIER 9RA & fhg T H 3= Afgen e Fefiar X 82
(A) feeedt (B) ¥
(C) fosiam (D) *eRE

35. o[ o1 eTveiia feuor sifufaam forg a9 | o1 ean?
(A) 1987 (B) 1986 (C) 1992 (D) 2003

36. WiecT-31eqT k1 foro fRy SROT P& gaTl ?
A) o= = I Safted

B) e e H ol i it
C) HMA IR = & fod ol g/ qams
D) 3= foan # foi =61 gfaf®
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37.

38.

39.

40.

In which year Jhansi Fort was captured by Rani Lakshmi Bai ?

(A) 1855 (B) 1857 (C) 1858 (D) 1869

Who is the first woman in India to get the Nobel Prize ?
(A) Indira Gandhi (B) Kalpana Chawla
(C) Mother Teresa (D)

Annie Besant

Match the authors given in List-I with their books given in List-II.

List-I List-1I
(a) Simone de Beauvoir (i) A Vindication of the Rights of Women
(b) J.S. Mill (ii) The Dialectic of Sex
() Mary Wollstonecraft (iii) The Subjection of Women
(d) Shulamith firestone (iv) The Second Sex
Code
(@ ((b) (o (@
(A) @) () (@) @)
(B) @) (v) (@) ()
© Gv) (@) @ @)
(D) @) @@ (@v) (i)

Arrange the following Conferences in the order in which they took place :

(i) World Conference on Women in Mexico

(i) World Conference on Women in Nairobi

(iii) World Conference on Women in Copenhagen
(iv) World Conference on Women in Beijing

Code :

(A) @ @) @G (@v)

B) @ @) @) (@v)

(€ @ @) @) @

(D) (@v) @) @) ()
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1869

(D)

(C) 1858
e =Tl
11

T foifesher o1 & W &w qud

(B)

(D) T e

T eEdfaesd A d99
(iii) < TSR ATH IHT

g Gopve T

()
(i
(iv)

(B) 1857

-1
HHH g R
S.TE. i

Rl

J[CTHY RN

T et o g et g fore ad H eafereRr o feren e e ?

(A) 1855

et QR o Al 9T YR Afger S €2
AL H A B G-I H el % iy gafad wifse)

(A) e it

37.
(C) #e TwE
a

38.
39.

)]

c)

N

b)

N

a)

N

)
(iii)
(i)
(i)

~— ~—~ ~—~

Tael H fava wfgen aw e
ii) IR H foava Afgen Te

v) st ¥ fova e a e

freafafed Tl ol 3% STEITSd 8H o Y § Fafed shifeg |
nfege ¥ fava afeen T e

i)
i)

< i ppam| o
~— ~— ~— ~—

40.

G) (i) (iv)

(@)

—~

(iv) ()
(iii) (i)

(i)

(i)

—_~

(C
(D
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41.

42.

43.

44.

45.

Sexual Harassment at workplace is defined as :

(i)  Physical contact and advances

(i) A demand or request for sexual favours
(iii) Sexual coloured remarks

(iv) Showing pornography

Code :

(A) (i) and (ii) are correct

(B) (iii) and (iv) are correct

(C) (), (ii), (iii) are correct

(D) (i), (ii), (iii) and (iv) are correct

Practical Gender Needs are the needs women identify in their :
(A) socially accepted roles in the society

(B) economically accepted roles in the society
(C) politically accepted roles in the society

(

D) legally accepted roles in the society

Gender main streaming incorporate :
(A) WID perspective (B) WAD perspective
(C) GAD perspective (D) HDI perspective

Which component is detrimental to women’s empowerment ?
(A) Equal participation in public sphere
(B
(
(

~—~

Dependence syndrome
C) Equal access to resources

D) Gender conscientisation

Female Literacy Rate in India according to 2001 census.

(A) 51.16 (B) 50.16 (C) 56.56 (D)
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41.

42.

43.

44.

45.

FHIE T A gedaeRr & g w1 | gftfud fean g2
i) oI demst SR fasrar ot i we

ii) ifen TR o ford i an fomdt

i) I Tt feufor

(
(
(
(iv
Hig:
(A)
(B)
(©
(D)

HRIe felT sTavashdrd 3t sTavashar & St Afeard oot o fientell # stfvm wwerdt §2
A) FEN H HHEIRSH €9 § Wigd ke §
AN H 3o &9 § @idha faeriet o
C) 9IS H YsHfdh &9 | W@iehd yfenrati §
D) | H HH ighd yffensti §

B

(
(
(
(

Tt g e (AIfET) ey & ¢
(A)  WID qfuea (B) WAD dufuex
(C) GAD dRue (D) HDI IRy

Tl & guiferetor & ol wE U2 el &2
A) HESIE &5 H | H I

B) fAsiar deagmor

~—

(
(
(C) THIEF! % W= Uga

(D) feitftar Haftereo

SRTUAT 2001 % STIHR R B Hfeel deRd X ¢ :

(A) 51.16 (B) 50.16 (C) 56.56 (D) 54.16
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46.

47.

48.

Read the passage below and answer the questions that follow (46 - 50) based on

your understanding of the passage.

Income is one of those areas of equality where one might imagine it would
be possible to develop agreed measures. Equal pay for equal work has certainly
been an underpinning feature of equity campaigns. None the less, the pay gap

between women and men continues unabated.

Thus Reskin and Padavic Comment. ‘In every country in the world, men
outearn women’. The reason that economists have given for this, range from
differences between the sexer in their investment in human capital to differences
in the productive capabilities of women and men. Feminists have critiqued these
arguments and have pointed out the horizontal and vertical segregated labour
markets operate to women'’s disadvantage as they are mainly employed in sectors
that are devalued as “women’s work” and are also positioned at the bottom levels
of organizational hierarchier. Feminist research has therefore illustrated how
sex segregation in the labour market combines with a devaluation of women’s
work. This creates comparable-worth discrimination where ‘employers underpay
workers who are doing jobs that are different from predominantly male jobs but

are of equal value.

What has been the underpinning feature of equity campaigns ?
(A) High pay in the job market

(B) Pay gap among women
(C

(D

) Equal jobs in the job market

) Equal pay for equal work

Women are employed in the sectors that are devalued as :

(A) Men's work (B) People’s work
(C) Women's work (D) Children’s work

Which is the comparable worth discrimination in the passage ?
(A) Workers underpay employers

(B) Employers underpay workers
(C

(D

) Employers underpay employers
)

Workers underpay workers
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Fforfae ensT &t afeq 37 TemsT @t 9= GHET & AT Y T4 3 T g9 @
ST

3, U T U 98 & § 581 I8 hedl i S it o Tiihd SU™ &
e B F9H S o fod 9HE dad foaerar sAfvam i fAfvea ®9 9 sy
oo @i €1 9 o 1, T69 IR Tt o i I At fo wE gu S ¥

37a: e iR Teifaes feumit #d ¥ : fava & g <o #, 7eu fomi 9 s
HAM | 38k fordl Srefenferai 7 i wor feon © 9 Ayt 4 ot o frae § fsmedi
Y fordi o gl ot Scaee erarel # fsraret 7 thel € | SiaTfeal 3 7 el st Guiel
i TR TUE IR AR YUahd J9 SR 1 Hehd fohan it fordi & I o
#d T Fifh forai 9= 9 9 39 &7 | e ot § o o forai & sl & w0 |
sTafead fd T € iR Wiearers qerghy # el Wi & 98 W ot & it )
sferd, TAtaret ey 3 fasiferd fohen © o fhe yohr o seR o T gergento fomi &
FE & ST ¥ Jedl ¥ I8 JorcH-gHal fadg gier wear € wiel o e
HTFIRI <1, ST 98 S R @ & S T 3e9 Sl 9 fie § g 99 o & ¥, 31eq
A HLd |

46. Trogerar 1 @ TRy faemar @ § 2

A) e ISR § e S

B) T&ri & o= odq e

~—"

(
(
(C) Sifal oS | |1
(D) 99N &M % fo@ §9H o=
47. formi 3g & § figed 1 9t €, S sremfeud €
(A) Yl % 1 k€9 H (B) <RIl % e o €9 H
(C) fordi % o & ®ad (D) o=l % %1 % €9 H

48. Y H qerTcHh- &t fadig g2

A) FEIR, el & $7eq FaH wd €
B) e, SHHRI w1 3Te9 JTaH Hid ¥ |
C) e, Frremsti ol teq T i |
D) IR, TR T 3T A H & |
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49. Assertion (A) : In every country in the world men out earn women.

Reason (R) : Feminists critiqued that labour markets one not to women’s
disadvantage.

(A) (A)is true (R) is false
(B) Both (A) and (R) are true
(C) Both (A) and (R) are false
(D) (A) is false (R) is true

50. What labour did the author mean to operate to women’s disadvantage ?

A) horizontal and vertical segregated labour market

B

~—

Sex segregated labour market

(
(
(C) Male dominated labour market
(

D) Organised and unorganised market

-00o0-
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49. 3T (A): Tova & Y3 <9 § 7oy ol 9 St A €
FHRT (R) : Sitenfea 7 THien wt € T 99 o ferat & oy | 6 2
(A) (A) T& B (R) ToTd B
(B) (A) IR (R) T T T
(C) (A) 3 (R) T e 7|
(D) (A) 7ol § (R) T& 7

50. S % TTAR S 91 Fo=ll & THam | &l i €2
(A) TR IR SHATHR gerahd g9 deR
(B) TciT gererpd 4 &SR
(C) &Y Y& g9 SR
(D) wfed iR stEwfed ANk

-00o0-
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